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f‘ Ansﬁ,er any FIVE of the fDllowing questions.
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(Marks 5 X 5 marks =25 marks)

1. Find the equatmn to the pl%‘ne through the pomts (1, -2, 4), (3 —4, 5) and perpendlcular to
* XYplane L, B ¥ A _

_ {1, ‘ *4)-:13801)3 ~(3 iy 5) 83053@0 &OW@‘@J‘ XY émﬁg 200N :Q)o& ée)éao cﬁus’b
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2 Fmd the dlstances of the pomts (2 3 ) and (1 1 4) from the plane 3x ~ 6y + 2z + 11 O
_(2 3 4) ;’nBo‘in (1 1 4) woc&):é)en :)ooc% 3x - Gy + 22 +11= 0 é@ﬁﬁ c&m‘en §:€)J§Ebo&

x+1 y+2 z+5

3: Showthatthé]ine T T hesmtheplane x+2y 2=0.
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_ ,-1 3 5 _
4 ‘ Fmdthepomtofmtersecﬁonofthehne __:é}:g__;_g:y;&am!x;l:'y-lﬁ:_z_s .
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el gm0 TR e Bt #-fr
= = fbatn === = 5 BotIS E808Y,08.
=8, B , g 8 1 56‘?')”)0 OQ) g
5,",.‘F1ndthe centre and radlus ofthe spherex +y + 2 -6x+8y 102+1 0
x? +y + 2 -6x+8y 10z+1 0 &d ﬁ‘oug)ggo@:m HBaK0 TgRrgreRo §a‘»§‘bod’n
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-11. Find the equation of the plane bis

* 12

22492422 =9,2c+8y+4z=5 & Byto Kr0Gw %8a» (1, 2 3
Ao G, BRo8senmi 658908, B

: Fmd the value of‘ “d’, if the spheres

Cxtryi et -2x4y-32-4 20,42+ 4% 4,2 -Gr-6y+ 287

Find the equatlon of the sphere through the c1rcle X+ y +22=9, 2x+3y+4z = 5 and the

point (1, 2, 3).
) DOLIYDO Kot e,

Find the equation of the tangent plane to ), gphere xz 4+ y? +2° =9 atthe point (2-2,1),

xPepteat=9 ea?ﬁ K‘mﬁ (2-2,1) Bossoy) 55 ;5353 B g:ng"bo&

2+ +28-2x+y-32- 4 0,

4 .
x4yt +28 -5x - 6y+2z+d =0 cut Orthogonau}'- . ‘
d.-:{) & Aoren 80Or

a)o&" “d” Dewd $05708.

Find the enveloping cone of the sphere 5 .|.y +z -2x+42 1=0 with its vertex at

1,10, | |
L 1) 3¢ %g:ium x?wyt+2’ - -2 bdgs 1= 0 e ﬁ“oﬁ;inﬁ)é‘b ng)ti,g B030Y fobogdeazmxn
St\’ngsboc% g ‘ :
Find the equation. of the cone w1th the vertex (1 1, 2) and gu1d1ng curye x? +'y"'- =4,z =0.
1.1, 2) %60!1‘, x%+ y = 4 z=0 aﬁy:égéon‘ z{e; éogm‘.fg) ,.)bogéseiméo gmg*boa
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] Answer any FIVE of the followmg questmns ) : o S

q -
530 . L:)‘é&ogo .o::rt;"é;’men poin:m

(Marks 5>< 10 marks-50 marks) R ' .Q;i
3
ectmg the obtuse angle betwee

3x+4y+5z+1= 0and5x+12y 13z = O A
) !

3x +4y+52+1=0 0By 5 +12y - 13z 0 ea;aa Sero mcpé Ko §‘e§°§)°l 52085 potss 3h

Be500 HEGERM 5:»§“boa, , | -
Prove that the equations 2x* — 3y + 4z + xy + ﬁzx vz = 0 represents a pair of planes and
+ find the angle between them. WA L | :
942 — 3y +42% +xy+62x - yz =0 &R0 Kibogqg;@ Be mm&b& 7202069 4rd, T8 mé?s
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13. Show that the lines —"""2 =73 = nd\_z_;_y~3_z_4
. 3 4 g - are Coplanar,

'

| AT W MY
s e B FT =-'"‘er*5~:4.%., ) |
' - 5 N8 ,ﬁmw $8dasren drgod,
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14. Fmd the length and equations t0 ines of
& g8 y-3 5492 x=1 y+7 2+t 2 shortest dmtﬁnce between the lines
= S R T
TR e 3-z+2 x - 1_y+7=z+2 -
-1 2 LT g %36:” & 0"321 S0Batin weg)éﬁ;’n sty
 shoseasonts $88y08 |

15. Fmd the centre and rad1us of the c1rcle x - 2y+2z—15 x? +yl + 2 -;Zy 4z - 11 0.
x- 2y+2z—15 4y’ 4z "23’ z- 11 0 @m ag, 2o 0B T

- 16. Find whetheri the following- dede B w gedt e ur sl i

Pt T i e "y 2t +7y 2z+2 0, 2x+3y+4z 8
% +y +z +7y 2z+2 0 2x+3y+4z 8 S e);i.).) :.‘Dém‘ Eﬁcs‘ K8 éq}é:m

§m?bod
17 If rl,'rz- are the radji of two orthogonal spheres, then prove that that radius of the circle of .

‘units. - o ey,

their mtersectmn is
. | HZ 3. rzz
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18. Find  the ' li'miting‘ points of': " the " co-axial  system  of  spheres
x+y v S8~ 3y+6+,1(x+y+2z) 0.

% +y +2 +3x—3y+6+l(x+y+22) o&gﬂgﬁeéadﬁéeb@@o@@wémg“m&
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Find the vertex of the cone x 2% + 327 _ Axy + 5yz - 62x + Bx ~ 19y ~22-20=0.

CxPo9y? 132 - dxy +5yz - 622+ 8x 19y _ o, _ 90 = 0 $030% %gbnm §:)J§'bo&,

Find the equation of the right circulay cone whose vertex is A(1,1,1), axis the line
x-1_y-1_z-1 '

i | .and t‘he-'semi-vertical angle 30°.
“ s A(1,11) ped oyl Bl s 8 S0 30° ' ‘
0)-. y 4y = 1 - 9 Sies 3 - @;O :3050‘5)0 %p&g €90 30 éécl nd_)‘e) %oabé)m §F§>§'boa.
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